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1.  "?@>A 1 #5@52>4 ?@54;>65=8O A 0=3;89A:>3> =0 @CAA:89 O7K: (2@5<5=0 0=3;89A:>3> O7K:0) (Oral 

translation from English into Russian): 
1) When you visit Moscow you should see its two most famous sights: St Basil's Cathedral on Red 

Square and the neighbouring Kremlin. 
"B25B: �>340 2K 1C45B5 2  >A:25, 20< A;54C5B ?>A5B8BL 425 55 A0<K5 7=0<5=8BK5 
4>AB>?@8<5G0B5;L=>AB8 -  )@0< �0A8;8O �;065==>3> 8, @0A?>;030NI89AO @O4><, �@5<;L. 
2 'AB=K9 >?@>A: 

1) What is the plural for the word <fish=?  
"B25B: Fish. 

2) What tense do you use in the subordinate clause of time?  
"B25B: The present simple tense. 

2.  %>15A54>20=85 
 

1. �>?@>AK: 
Do you have a big family?  
What kind of families there will be more typical in the future: nuclear or extended? Why? 
What do you do to keep fit? 
What places of interest in our country would you recommend to visit? Why? 
How might travel in the future be different? 
2. �80;>3 (2 ?0@0E) 
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Talk about the most popular Russian dishes and Russian cuisine. 
3.  &5AB8@>20=85  (� 7028A8<>AB8 >B F5;8 B5AB8@>20=8O 2K?>;=O5BAO =0 stud.lms.tpu.ru; exam tpu.tu; design.tpu ru 8;8 

ABC45=B0< ?@54JO2;O5BAO 1C<06=K9 20@80=B B5AB0). 
�>?@>AK: 
1 Choose the correct item: 

Jane is slim and she9s got a dark _____ .  
    A complexion     B skin     C body  
"B25B: A 
 
2 Choose the correct word to fill in the sentences. 
A Take off                      B Put on 

1. You should _____ your shoes when you enter the flat. 
2. It9s cold today, _____ your warm coat.  

"B25B: 1A  2B 
 
3 Listening. Bill wants to join his local sports club. Listen to the conversation and then complete 

his notes below:  
Charges                    Standard charge $30 per month 
                                  Includes: gym, swimming pool, 1) _____ and sauna.  
"B25B: 1) tennis court 
 
4 Complete the sentences with the words from the box.  
 

 

1 Thai people are good-looking with _____ features.  
2 We lived in a small _____ hose in the city centre.  
3 We had a _____ view of the city from our hotel window.  
"B25B: 1 delicate 2 terraced  3 spectacular. 
 
5 You are going to read the text about France. Mark the statement True (T) or False (F).  

Vive La France! 

France is a beautiful country of historical interest in Western Europe. The climate is quite cool and it is 
often wet in the north but much warmer and sunnier in the south.  

terraced      spectacular     delicate 
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The French are usually good-looking. They are of medium height and with dark hair and a light 
complexion. The French are friendly people who are well-known for being stylish and wearing chic 
designer clothes. They are sociable and talkative and they are interested in history and culture.  

1. France is located in the North of Europe. 
2. It often rains in the north of France. 
3. The French have got dark skin. 

 
"B25B: 1F 2T 3F. 
 
6 Put the words in the correct form of the Present simple, Present continuous or Past simple.  
Dear Tom, 
I9m writing to you from Rome. I _____ (be)1 on holiday here with Mary and we _____ (have)2 a 
fantastic time. We _____ (stay)3 at the Hotel Grande from which there is a beautiful view of the whole 
city. We _____ (go)4 sightseeing every day. 
"B25B: 1are 2are having 3are staying 4 go. 
 
7 Choose the correct item. 

1 Thailand _____ located in Asia. 
A is  B be  C was 
"B25B: � 
2 Jim usually _____ the bus to work.   

A catches    B is catching    C catching 
"B25B: A 

4.  #@575=B0F8O Choose a topic and make a presentation. 

1 Families of the future. 
2 How to keep fit? 
3 This is the best place I9ve ever been to!. 

5.  %>G8=5=85 
 

#<EP@B: 
You should answer an article about James Pearson using the prompts below. Use 100 -140 words).  
Home                flat/centre of London 
Appearance       good-looking/short hair/ plump/ expensive suit 
Eating habits     steak / grilled fish / expensive restaurants 
Free-time activities   theatre/ opera. 

6.  �0GёB �>?@>AK =0 70GёB: 
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1. Where would you like to spend your holiday? Why? 
2. What would you advise for someone who wants to lose weight? 
3. Is being polite important nowadays?  

�80;>3: Extended families become less important today.  

5.  9FB8<K9E><9 G>4;4A<O CB CDBJ98GD9 BJ9A<64A<O 

 "J9ABKAO9 @9DBCD<OF<O #DBJ98GD4 CDB6989A<O BJ9ABKAB7B @9DBCD<OF<O < A9B5IB8<@O9 @9FB8<K9E><9 G>4;4A<O 

1.  "?@>A "?@>A ?@>2>48BAO ?8AL<5==> 8;8 CAB=> 2 :>=F5 8;8 =0G0;5 ?@0:B8G5A:>3> 70=OB8O A F5;LN 
0:BC0;878@>20BL 87CG5==K9 ;5:A8G5A:89 8/8;8 3@0<<0B8G5A:89 <0B5@80;. �>7<>6=K  
D@>=B0;L=K9 8 8=48284C0;L=K9 284K >?@>A0. 
�@8B5@88 >F5=820=8O: 
$0725@=CBK9 >B25B (CAB=K9 8;8 ?8AL<5==K9) 0,6 – 3 10;;0. 
�@0B:89 >B25B (CAB=K9 8;8 ?8AL<5==K9) 0-0,5 10;;0. 
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